A&/ —F (TR —

PTFE/RO | - ;

EHET FRE Size (mm) EHET R Size (mm)
Part Number M n Part Number M n
29000R0030050004 M3 x4 0.53 29000R0080125080 M8x80 1.39
29000R0030050006 M3x6 0.53 29000R0080125090 M8x90 1.39
29000R0030050008 M3x8 0.53 29000R0080125100 M8x100 1.39
29000R0030050010 M3x10 0.53 29000R0100150008 M10x8 1.79
29000R0030050012 M3x12 0.53 29000R0100150016 M10x16 1.79
29000R0030050016 M3x16 0.53 29000R0100150020 M10x20 1.79
29000R0030050020 M3x20 0.53 29000R0100150025 M10x25 1.79
29000R0030050025 M3x25 0.53 29000R0100150030 M10x30 1.79
29000R0030050030 M3x30 0.53 29000R0100150035 M10x35 1.79
29000R0050007012 M4x12 0.73 29000R0100150040 M10x40 1.79
29000R0050007016 M4x16 0.73 29000R0100150045 M10x45 1.79
29000R0050007020 M4 x20 0.73 29000R0100150050 M10x50 1.79
29000R0050007025 M4 x25 0.73 29000R0100150060 M10x60 1.79
29000R0050007030 M4 x30 0.73 29000R0100150070 M10x70 1.79
29000R0050080012 M5x12 0.93 29000R0100150080 M10x80 1.79
29000R0050080016 M5x16 0.93 29000R0100150090 M10x90 1.79
29000R0050080020 M5x20 0.93 29000R0100150100 M10x100 1.79
29000R0050080025 M5x25 0.93 29000R0100150150 M10x150 1.79
29000R0050080030 M5x30 0.93 29000R0120175025 M12x25 2.19
29000R0050080035 M5x35 0.93 29000R0120175030 M12x30 2.19
29000R0050080040 M5 x40 0.93 29000R0120175035 M12x35 2.19
29000R0060100012 M6x12 1.13 29000R0120175040 M12x40 2.19
29000R0060100016 M6x16 1.13 29000R0120175045 M12x45 2.19
29000R0060100020 M6x20 1.13 29000R0120175050 M12x50 2.19
29000R0060100025 M6x25 1.13 29000R0120175055 M12x55 2.19
29000R0060100030 M6x30 1.13 29000R0120175060 M12x60 2.19
29000R0060100035 M6x35 1.13 29000R0120175065 M12x65 2.19
29000R0060100040 M6 x40 1.13 29000R0120175070 M12x70 2.19
29000R0060100045 M6x45 1.13 29000R0120175075 M12x75 2.19
29000R0060100050 M6x50 1.13 29000R0120175080 M12x80 2.19
29000R0080125012 M8x12 1.39 29000R0120175090 M12x90 2.19
29000R0080125016 M8x16 1.39 29000R0120175100 M12x100 2.19
29000R0080125020 M8x20 1.39 29000R0120175150 M12x150 2.19

29000R0080125025 M8x25 1.39
29000R0080125030 M8x30 1.39
29000R0080125035 M8x35 1.39
29000R0080125040 M8x40 1.39
29000R0080125050 M8x50 1.39
29000R0080125060 M8x60 1.39
29000R0080125070 M8x70 1.39

WRtEFR7A BIENLATE



	工作表2



